7.2 Practice — LOGARITHMIC FUNCTIONS Name: SU \\C‘W\V\ \ o

Pre-Calculus

8 2Inx+5Siny= - 9. logs y+ 7logs x + —— 0932

Solve for x using the “Bean method” (change of base ,(ormulé) Show your work! Go out four places!
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SoT\Te for x by using the “Brust method” (canceling the base with logs). Show your work! Go out four places!
. 5% = 15 14. 4* = 1024 15.100* = 50
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Solve for x by using the Sully method (by graphing). Tell the point of intersection used to solve the equation.
16. 3* =3 17. 15%* = 4 18. 100* =10 :
x=A34T  point(2%13) | x=5(19 Ppoint(5|, Y) x=025000  point(3 ,I0)
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Find x, y, or b as indicated in the following problems.

19. log,x =2 20. log168 =1y 21.  logpl6 =2 22 logy1 =0

Use logarithms to find the inverse of the given function.
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2. Condense into a single logar thm
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